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Read the following passage and answer the question numbers 28-29 that follow:
Electronic mail, popularly known as ‘e-mail’, is the communication of textual messages via electronic means.
Although telex communication is also electronic in nature, there are differences between a telex and an e-mail. While
telex communication is terminal-to-terminal, electronic mail communication is user-to-user. In telex, messages
destined to a number of users are sent to the same terminal from where it is distributed in a printed form by an
operator. On the other hand, e-mail is delivered to individual electronic mail boxes based in computer.
An important advantage of e-mail is its ability to reduce the consumption of paper in the office. Internal memos and
reports can be exchanged electronically without using paper. Being a computer-based messaging system, files
prepared on computers can be instantly copied and easily exchanged as e-mail. This facility has the potential of
improving office efficiency considerably.
Being a person-to-person communication, e-mail turns out to be a cheaper alternative to telephone conversation and
eliminates the time spent in establishing phone calls. Privacy is ensured as the mail is delivered to an individual’s
mail box which can be accessed or npen_-:zd only by the intended recipient.
E-mail has bruu{ght about a revolution in modern communication. Messages can be transmitted from one country to
another within seconds. It is far cheaper than telephone calls. Trade and commerce has become greatly dependent on
this mode of communication. -
(a) Mention three advantages of using e-mail according to the passage.

HAtY: Three advantages of using e-mail according to the passage are safety, low cost, quickness.
(b) How is privacy maintained through an e-mail?

FqIYH: E-mail is delivered to individual mail-boxes which can be accessed only by the intended recipient, thus

privacy is maintained through e-mail.
(c) What is the principal disadvantage of using ‘Telex’?

IWY¥: The principle disadvantage of using ‘Telex’ is that it cannot ensure safety.
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29.  Fill in the gaps with the correct form of words in brackets. Add any preposition if necessary.

(a) E-mail system is (difference) telex system in several respects.
AN different from

(b) E-mail has brought about a (revolution) _ change in modern communication.
HAY[F: revolutionary

30, Correct the following sentences.
(a) He as well as his brother were present in the meeting,
SIYI: He as well as his brother was present in the meeting
(b) He offered me a fresh basket of flowers.
SIYI: He offered me a basket of fresh flowers:

(c) I was absent at the meeting,.
ANT4IN: I was absent from the meeting.

(d) The three boys divided the mangoes between themselves.
AAY|: The three boys divided the mangoes among themselves.
(e) Until you are idle, you will not prosper.

SAYA: Till you are idle, you will not prosper.
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. — (3.3 _£3_3"14__ y=0
STt v = [ xPdx = [ ==~ = 20 sq.unit e

X & I TR & (%) = X + = TG T T 71 T3

(@)1 (b) -1 (c)0 (d) 2

T x = 2 A £(x) = 2+ > = 2.5 &7 W HC415 2

a=14+2]-3k qaqeb=31—]+ 2k, S@3+ b IRI—b G VIS (I A T3~

(a) 45° (b) 90° (c) 30° o (d) 120°

sy a+b=4i+j—k; a—-b= —2i+3j-5k

e g . _ E‘*E}-ﬁ"ﬁ]_ . _ -1n — 0
a+h).(a—ﬁ)=—-8+3+5—ﬂ . cosb = 35|35 =0; 0 =cos™0=90

a3l SfiqS (6,4) 972 (—3,1) REpif @7 @@ T RIS qR x-97F TRA 9F WG TF TIAZS ) TR TCFA

7 25-

(a) = (b) 8 (c) 2 (d) 4
STtA: R, tqreT s X — 5 = 183 (6,4) © (-3, 1) R

L (=32 12 _ ., 1_5§5 1 _1 . . i, .
nE—m=1e T —n=1; s=o 8= Wb=2 TR R GG = 2b =4
K-93 9 30 A (3K + 1)x2 + (11 + K)x + 9 = 0 FAFACIT o/ S0 70 3?7
(a)K>1 (b) K < 85 (c)K = 85 (d) 1<K <85

ANYE: Bk + D)x2+ (11+k)x+9=0

e (11 +k)? —4(3k+1)9 = 11>+ 211.k+ k* — 36(3k + 1)

= 22k + k% + 121 — 108k — 36 = k* — 86k + 85 = (k— 85)(k — 1)

yerey wfoe e 2, FRfme < 0 . (k—85)(k—1) <0 91,1 <k < 85

A 932 B @ @1 7' 75, A’ €32 B! TUEF A 32 B 9 97T G5 (A1 A — B @3 7 TR-
(a) A' — B’ (b) B' — A’ (c)A'-B (d)A—B

HAY: (b); A B
A-B={xx€(A-B)}={x:x€AX€&B} i@)
— (x:xEAXEB}={x:XE B',x¢A') |

={x:x€B' —A'}=B'—A’

N ECACTC T Beail) 12 BT LA T S [hd LN




3 RETl ) 3 .."..fr‘;
SIS EERUSS h (} g; iﬁ | ﬁ"’.ﬂ o 8 ANTHIA

19. x—3y—2=0 @ TR P g3l Ry 93 o (2,3) 8 (6, —5) g 7 zre Tzt p [iwfoq gis <a-
(2) (12, 4) (b) (14, 2) (c) (14,4) (d) (16,4)
AN (¢); P 99 AT (x,y) .. (x —2)* + (y —3)* = (x— 6) + (y + 5)?
=>x+y? —4x—6y+4+9=x%+y? —12x+ 10y + 36 + 25= 8x — 16y — 48 =0 ......... (i)
T2 ST QI wymIe (14, 4) RS w1z wilieaa® frs =)
SR, x—3y =2 =0....(ii), ()€ T, (x,y)=(14,4)

20. AW tan® = = R cos {AGF W, ST et 25D g 37 7R3

sec(—0)+tanb
3¢ 34 30 35
(a) 39 (b) 40 (c) 39 (d) 50

ANYIA: (a); tanb = -1‘:'2-; cosB = E;sinﬁ = 1—2 [0 (T 5% RSt SAFS)

P
. SinB+cos(-8) __ 5inB+cosb _ -!53 % 17 12 34 éﬂ: 5
" sec(-0)+tan®  secO+tanf i_i+1_-"'2, BETRETIET R
12
*21. (101010), ¥ AN &9 Frox fRfire FeTt @ist Tt @riwa 15 faw Roer 21?
(a) (11), (b) (10), (c) (101), (d) (100),

AAHI: (a); (101010); = (42),9; 42 AT 7R 3 QM IACET Q@I 15 G171 [T =1 (3)40 = (11),
22, G T v (ot Tre <ot oI Sgiies wif o 041 Tt 4 9ol T | THTE 2TFA Gl TR-

(a) 90° (b) 60° (c) 30° (d) 45°
ST: (d); H = S22 ;R = elnee
R = 41 :ﬁvzslgnzﬂ — 4 xvz r.zi;tzﬂ _}v‘lzsi:ﬂcnsﬁ i sz s;nzﬂ — tanf = 1=> B = 45°
*23. 50kg SEF UFEH T 327cm/s? G o G0 T Rifew Wity BAE SiERee 797 BFesa iR 80"
RIS 517 23- | '
(a) 101.1N (b) 6.54N (c) 65.4N (d) 654N

SNYIA: (d); SRS 519 = m(g + a) = 50x(9.8 + 3.27) = 653.5N ~ 654N

24. 9% & IO 3km Q1 TS AT 12km o <47 #if5w P 150 RS Skm =it 26011 ifBa ot vt =1-
(a) = km/hr (b) =km/hr (c) 2km /hr (d) 2.5km/hr
T (c); B 79 = V122 + 52 = 13km S5km
1B 519 = 2 + 2.5 ='6.5hr |

;. Gt = — = 2km/hr
25. W cotb = 2 %W, ©4 10sin 20 —6tan 20 9T T\ TE—
(a) 1 (b) 3 | (c) 2 (d) 0
STYI: (d); cotd = 2 => tand => =0 = tan™1 2 = 26,565
Calculator @ 8 & ¥iW IR 41, 10sin26-6 tan20 =~ 0
26. 0,3,5, 6,8 SOGTE! WTH @ STF T3S 1 I 4000 97 (5T0 I© FOGTAT 2T 5157 T3t T2
(a) 144 - (b) 192 (c) 168 (d) None of these
ST (c); LMD BT SCH X0 T4 T 5, 6, 8 97 ORI T =197 1 1 w72 wrafiie vrafe o wray opef
IS A | @ CFCE [0 A = 3x P, = 72

AN “ji5 S0 =0 AT 9 3, 5,'6, 8 G QI AP | M BrG T SRR B et wrat o ware xm;
TR R 0T = 4 4! = 96. . B 717 eyt = 96 + 72 = 168

13kmy_ [12km




__sueraoe SR 8

- 10 _
27. G2 a7 fgfere x aawm

(@) [1+31] (b)[1—371] (c)5(1- 3-1“] (d)7 (1 +37] |

AAY: yz2 _y2 _1f1 _1 1 )" _X ‘1]
(b) (1- x]{z—x] 1% @x 2(1—:-: 3(1_3)) [(1 )™ (1 3)

10
x10 lﬂ?{ﬂ"{'n‘[:%(]_ _l‘(l\ ) =,;_(1 — 3—11)

3 \3/
28. IMAX = [—|-Jl ;] [:] = [3;: Y, Bd XA? T(9-

(a) ['—x (b) [ _xy] © [:ﬂ (d) None of these
STAYH: (d); X = [y] A= ” . A2 G T 2x2; X @7 T 2x1 X 8 A? OF o 4T eI AT
29. Tha=Z =W, o al aamm— |
(a) —1 (b) i (©1 (d) —i
TEA: (d); 2 = 28 a2 = 22 - g2 =j;ab = (%) =1° = —i
n a\y O n
=iz a = 1?": = %+ é = El(?) . a® = (Ei(?)) El(a = cus% + i 51113? —i

Ix-—-1, x>3
30. IMf(x) = [xz -2, =2<3x<3, T oM@ f(x) 99 y-urHe oo ga-
2X + 3, X< -2

(a) =2 (b) 3 (c) -1 )0
W:(a);y'ﬂ?ﬂﬂﬁlﬂ‘]’x= 0, x=0TFf(x)=x*—-2= -2

31. 5 fiom A ol Yeret aued ¥R Atd 10.5kg @ 24.5kg O ' 98 JANTA SR IFEH EF T 9o NS
e el SIF IZH FIACS 517 | (7 TT07 T 9T I FF (AF TS A {2

(a) 1.5 meter ' (b) 2 meter (c) 3.5 meter (d) 3 meter
FAAMYI: (c); 947, xx10.5 = 24.5x(5 — x) —X—Ae—5.x— . ;
t, 10.5xx = 122.5 — 24.5x ! T ! _I
qh, x=35m 10.5 kg | 24,5kg
32.  y(x—2)(x—3) —x+ 7 = 0 IFERIT @ [T x-TFF @ 3@, @ e 3 arifoe s et =-
(a)x+20y—7 =0 (b)20x+y—140=0 (c)20x+y+140=0 (d)x—20y—7=0
3 A ' L ¥ x—7
AN (b); y(x—2)(x—3)—(x—=7)=0=>y= e
1dy _ 1 1 1

=Iny=In(x-7) —In(x—-2) —In(x—3)= - y dx  x-7 x-2 x-3

dy 1 (x=7) X=7

:bdx = []{ 2){1’."3] v (K‘E}I[I 3) {KHE}EI—E}E ] XW mwy 0

Lx=7 cox SURE A RO S (7, 0) ;@ Rers =i ot = o . SRR O = —20

-, ST TAFTALy — 0 = —20(X — 7) = 0 =>y = —20x + 140 = 20x + y — 140 = 0

33, TG = 27 W, OR lim T g7 -

(2) —4x2"loge 2 (b) 4x2"*log, 2 (c) 27* log, 2 (d) —4x2~+1
ST (b); 1) = 274 Jim T = 00 = 27 log, 2(—4) = —4x2**log, 2

34, @S x+y=1GAD x? + y? — 2ax = 0 T/ ™M T of -
(a)a® —2a=1 (b) a% + 2a = —1 (c)a’+2a=1 (d)a? —2a = —1
Wm'(c);xz+yz—23x=ﬂ'{mﬁﬁ(aU)ﬂﬂﬂﬂ]‘*’fua |
x+y-1@ﬁ[ﬁ§i‘3ﬁ“ﬁ?ﬁlﬁ I“j:” :-(a-—l)z—(*/_a)
3t (a—1)>=2a2a?—-2a+1=2a% A, a’+2a=1 :

tov S RERE




35. (1U)ﬁ‘imtxﬂ—owmm@ﬂﬁm@mmwwmw—mﬁwww—
(a) x* = 2y (b) y? = (c) x* = 4y (d) y? = 2x
W:(h);(x+11]==(H'—l)z+(y—ﬂ)2:>xz+2x+1=x2-—2x+1+y2:>}r2=4x

36. ﬂﬁx=sincns‘1y{ﬂ,mxi + y? 99 I IE-

(2) 2 (b) 1 (-1 @O0 i i
I (b); x = sincos ™'y = cos™!y = sin~! x = sin~1 x = sin~1 J1-y? |
ﬁx:\/l‘—}"zﬁxz=1—y2:xz+}rz=l

s (MCQ)

*37. VEQO! TR (IS Al Rfarea T = sinent 7 a7 o St
(2) A3 ATF SRS 7T Bee o (b) *R<¥= Siwe Fivg TR
(c) &S Taafee, g W3 o wefPe fem  (d) Tegfve afe, ﬁr@ﬂﬁﬁﬁﬂfﬂiw@ﬁ@%
TAYH: (b); STATY T “ANSTN A F=F @S IS | TAAR LSIF ST F=1F @S W I B “[awaa
PR TS AT

38.  5x10%*kg ST IR 6.1x10°m e RFZ w3l ot=a =F TS 2.0kg OET I IFE TP IS LTS
IR AR - (ST TR, G = 6.7x10"1 Nm?kg2)
(a) 9.0] (b) 2.2x108] (c) 1.1x108] (d) 1.1x106]

6. 7x10"11xsw1pi4
A (c); IEw, V = )ﬂ = Jz S e =~ 10480.27ms™!

6.1x106€

. TG R = L mv? = 1x 2x (10480.27)2 = 1.1x10%)

39. ﬂﬁﬁﬁtﬂ@ﬂﬂ?ﬁﬁmwﬁﬂﬁw of Z=18 | [Ans: b]
(a) ™3 e (b) = rE RRBEE 3f (c) ™ ¥ia F=iE (d) 15

40. G ITHCET AT (TS T G99 a 93 53 x-97 APE a = —w?x AN A TAFS?
(a) @ (b) 2m0 ©) - ()=

FAAH: (c); a = —O°X; m-an::-f-z—
41, @b Ui Frg TSI FOI-2ERGT WeTae 36, g o7l olet STaTeT 7Y S+fos 2ed ~He 4Ig 20S (Ol THI-

Wﬂﬁﬁ_@ﬁl WWWﬁ”f_Wﬂﬁ— [Ans: c]
() ST SIgS! ST ‘ (b) SIEAITE FAIAES T
(c) “Tore! (=I5 STA-CATHE WER IRA I (d) Kol 19 Sa-20da ST 92 T
42. 501.85C SIPN@E TG AUCCRARG oo 7s?
(a) 775.01K (b) 774.85K (c) 775.00K (d) 228.85K
AYE: T = 0 + 273.15 = 775K
43. w5 PrEe a3 owm 9 [Fre Sivifes 2w e @im It ari o 7o [Ans: d]
(a) 9TA9 W UF2 (b) T TCAF-AG GF2
(c) ata9 RBA & G2 I (d) amwa weite “iideT oo
—®
44, frea ISANTS FIE TG 8 (SIBIBITIT A3 T 2[@- © 220V 2200
(2) 1 Amp and 220 V (b) 1 Ampand 0V (c) 0 Amp and 0 V (d) 0 Amp and 220 V

| s




45.

*46.

47.

48.

*49.

50.

e

32,

53.

54.

ANY: (d); CSEORDIER mrw‘ﬁs%w_(wrﬁswm wﬁm mmmﬁﬁaamtwﬁﬁa (S GFSIT =) | COFBRTIET
@Y T QR e FHifvs IENTe SR 2[R TR A AR 5Lt | SF SRGIEs Gy A 7 [Rrav Fea @ sz

5 M T 932 CSIBABE oY LT [ @)

93 THEIA NGB 10ms ! FAERT SHTS TSI FACR | THY O 120m TRLS A FIZH 97 PR e e

4T I T CFT | TR WIS T 3o @ [T [ﬁtﬁg < T 1. 6m/s 2]
(a) 22ms™? (b) 30ms™? (c) 17ms™? (d) 130ms™?

[ .

HAAYE: (a); v2 = u? + 2gh = 10% + 2x1.6x120 =484 . v= 22Zms™1

IR S-S F6a TIAGTIR T (TG AT T2 [Ans: c]
(2) R 6 W SIo-goie Goe &y fFaers i & e |

(b) e Sremiat free R S ToF FSa s

() T SN Ao AR SR 6o RS s =

(d) FR=eeors S T ST SfessEe *If& (thermo-e.m.f) N TF

4D ANGAIEA G TG T AN B 3D NS SEGH (7S] T el T | A TA0A (FISP 799 L3+

(a) 25 cm (b) 50 cm (c) 100 cm (d) 200 cm
SYE: () ; P=4-3=1D .. f==1m = 100cm

@R I 100V-97 R Seetem AiRe #isiiee ©f 200 watt I azd 301 T @b 200V-97 R Jeerem A2
A F© *& 92 7

(a) 100 W (b) 200 W (c:) 4{}0 A (d) 800 W
b V2 _ V2 _100% _ _ Vi _ (2002
A (d); P = — =R =—=""-=50Q @¥f P, =1 ="—=800W
T Al AT #fRvTS 2%z, @ WY A ST ot xR -
(a) zero (b) one (c) infinite (d) less than one

A (c); FoB ~IIf T e Qews T Or+ farere St g
600nm SIAATIT G0 (FIOHT O o7—

(a) 3x1073kg —m —s™* (b) 2.2x107%6kg — m — s~

(¢) 1.1x10727kg —m — s~? (d) 3.1x1072%kg — m — s~

FAYH: (c) ; P = ; = 1.1x10"?"kg ms™?

0°C ST “HIfCE TPge 4t @S A, T wtfiene ne - | [Ans: d]
(a) 760 mm of Hg (b) 76 mm of Hg (c) 40 mm of Hg (d) 4 mm of Hg

L 74T @32 R @4-Rf2 3 ~Bafiefibies wiea Tty ofte a3ieea a1’ 2@, et Afieerme 29 2e-
@1 (b) IRL (©) = Ok

TA: (a) ; ot AR = - = =
30 @Y7 G0 SR TR Torem S I 211 97 96 IR AV TS @IS TH T3
(@20 (b):0 (c) 10 o]

1€2 152 —VW—‘ 2/30
HAAYE: (a) ; E— ¥ —AAA———
—L A
10 102

400Hz T=IER 935 TR TF 802Hz FHITE ™IS L1 AR 64 AL 20—
(a) 402 (b) 20 (c)2 (d) None of these
FRM: (d) ; B AT = 802 — 400 = 402Hz T LI FICH CTFT 78 =7

N e

e, . o ——— -

A



JJ.

56.

57.

58.

59.

60.

61.

62.

63.

64.

ﬁmﬂmmmﬁmwm%mawm—

(2) JFT AT (b) I& A= (c) 9F2 AUFI (d) IR 8o FSa T
ST (a) ; (IF S L = o | RA b Imes 71 At «fiS wook 1w 257 (ors! S @i @t 3
¢ T @9 © = 25 J[BA1R o IS T TR e raera <0ifs 2ot wirea

80m (ro i) Bl R I qF T RIS “itw WL T 20% I QI IR SfSUITe ZPT A, S I
(AT T R @ TRy B

(a) 60m (b) 64m (c) 68m (d) 72m

TAYH: (b) ; BOm THS! T[S IRITS G771 I *fE = mgh = mgx80

G 20% *FZRT ¢oiteT & <1 AT = 80%xmex80 = 0.8xmgx80 = mgx64

e %! h' 71 mgh’ = mgx64 = h' = 64m O, just 80 x (100 — 20)%m = 64m

[ OR 41 SIFS! 1 16 SI0HR TifFeires 20 1% 8 TEHY e Sige TW-

(a) 51, 31 (b) 91, 1 (c) 91,31 (d) 51,1

TANI: (b) ; it [BITaw Ui TN - a3 s Ror A T SRt 1 2A

LA R = A+ 2A=3A e R =24 - A=A

<. LTS SISt 321 [, 91 @ Ay Oige! 1213, I

hmtﬂﬁq&ﬁr wwq@awmﬁﬁmﬁwmmmﬁrm@ﬁm?

(a) 7 ~h (b) 3 “h ©) > >h {d)
Wﬁ:(b);ﬂ@lﬁ'rhﬁtﬁ,p=ﬁ=hﬂ ME R =33, = s = 2x2=2xh

OF0 FEEa W47 OF T IFH 2w I T 9F G5 S T4- [Ans: b]
(a) 3% AT (b) T AR (c) WSS YT (d) U I

TF0T GFGH ACSIBIAT TR AF 0 AT AT AIETme KI-

(2) 84.6 min (b) 2 sec (c) oo (d)0

W:{c);T=2nJE;WI‘[g=U T ="

G2 41gd cof 7' IS I «iva g Swufbe feed | o ufbte e smied = gl w9t st oo Ty
AGTS (AT 2L (RGO T P F0 B ifS-—

(a) 92 TA (b) faed =9 (c) B 7T (d) W4 T

HAYIA: (c) ; SR &, V = Erz(":'”f)gz:r v o« r?

@y G316 A weRbe faed ©iF BifEe s 23 sred)

af5 e TEFTT (I TET 70 B (x) '@ A (y) B S0 SIERTS e. m. £ - [Ans: ]
(a) (x)-49 CFI ¢ (b) (x)-97 CF7= (=26
(c) T=F CwaR T (d) FTACTA WIS @17 ST 30 T I (7B A
a5 10eV ZERGA De Broglie S5 -(04) T3- |
(a) 12404 (b) 1A (c) 3.88A (d) 0.554
6.63%x10™34 _

NI () 5 A = ,,/Fnii_ ~ J2x9.1x10-31x10X1.6x10-19 = 3.88A
TS S{fSTS T (@ 387 o= 97 i o e w3172 [c=wees 1]

(a) VZc (b) < OF @Zc

“[ATSH FEH [N w5er




65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

e TS et S
_ | | Ilj g!
i !
iy

TAY: (d); By, = (m — m,)c?
TS, (m — mg)c? = m,c?

- me__ A1 VI ¥ 3 ¥
=>m—2mu_aJ1T;—2mu:> 1_::_2_5:"1 b de it Al

e v R Ao |- e o = e I S
(a) 300 km/sec (b) 3 km/sec (c) 30 km/sec (d) 3000 km/sec

TAGA: (c) 3 V = 208 = 0 r = 15x107km = 15x10%°m

= 2.99x10*m/s = 3x10 km/s = 30 km/s T = 365 days = 265x24x60x60sec

G5 ARFETS oRiEe R @41 167 A/m TEE (GTFF CFa Jjf8 I | RIS (987 5000 N GIFF STre!-
AR @Y 1R AT ARHGH (SO BIFS CF@R T A8

(a) 2 Tesla (b) 1.05 Tesla (¢) 1.5 Tesla (d) 2.5 Tesla
A (b) ; B = pp H = 5000x4nx10~7x167 = 1.05T | .
WWMﬁWWWpWﬂwWwwmmw . [Ans: b]
(a) @rEgRIfeE (b) @i (c) criferm (d) e

A7 @R craf Tot IR oS <fFeas sy e Beeime TER SfEeHEE T (e.m. f.) IF FE?

(2) TR FEAE #A1F AL I vac (b) A G TAT = S A [Ans: b]
(c) TTEite g T st 3w T () T Igfes o a 99 FAE

G A-5TF T AR ko - [Ans: a]
(a) Zero (b) 3:3: (c) less than zero (d) greater than zero

aafb 5IftTe IHE SfH-FE S 4T= TR ©f SIbiere 1 Fed- [Ans: b]
(a) SRI-Frim Toe T SRS T A

(b) & Tl L VMO ARQAILTS HABIAS W I

(c) TF® f}-Fr Redrs s viftere = 3w

(d) BT 7P THBLP IS FCH R TR et ST S I

*-SA NHA I o1 AT ST I 2 [Ans: b]
(a) 2T (b) TS (c) IS (d) eifewe

o s 5 St R <<y 3 108V =, STF 20 o7 BTt SfSeraee T [ At =i sfvore 737

(a) 1.25%x10%8] (b) 3.2x1019] (c) 2x10%) (d) 3.2x10~10]

QY (¢) ; W = VQ = 20x10° = 2x107]

fﬁmiﬁmmﬁ@wﬁﬁmﬁ@mﬁ%ﬁwr@?
() R (b) AR afre (c) TR G (d) VT afFre

HY/H,0
F4: (d) ; CH5CN » CH,COOH

£153 (@I OF (It FINAT BT [I7e 47 [Ans: c]

(a) Zinc (b) MnO, (c) Carbon " (d) NH,Cl
e @ ceifPm i vt fEeRe Teeid 37 [Ans: b]

(a) Fifere fRfeFm (b) firres @t R




BUET SRess §
.-J:": A2 2 {‘_I i

76.

11.

78.

79.

80.

81.
82.

83.

84.
85.

86.

87.

g8.

A - B RiEFnife ey v Rferan i efbai sigems 242

(a) [A] vs time (b) In [A]vs time (c) #vs time (d) IIT] vs ime

TTAI: (0); 5% @ e oy wfewets k = 2In ‘;'}‘ = kt=1In[A,] — In[A] = In[A] = In[A,] — kt
s ln[A] Vs time

T I RS R e e e e 1 2, e BT TRt fiew v < 1 2

(a) S w70t (b) Bt - () St (d) SFeA [Ans: ]
"EOAITH THEFN WA HF, H, 0, NH, €32 CH,, GIAPTRS SIFRIgeS F90e1 sa (D A9 Ta?
(a) CHy < NH3 < H,0 < HF (b) NH; < CHy < H,0 < HF [Ans: d]
(c) HF < CH, < NH; < H,0 (d) CH, < NH; < HF < H,0 |
(W 713 A «9? ' [Ans: c]
(a) [A®TH (b) YHTSA (c) SFETE™ (d) ciTaT
53 1R Ao et foft w7 [Ans: d]
NH, oI
NII3-C1I-CIT; NIICOCH;

® Y ® O © @ @  dopen

4~TEfer=ge e IR R e g BuIRe 4-GFIE-3,5 SR o= i a
(I SHRE “ifs e firiies 4o @ w 9o teofs +@? ' [Ans: d]
(a) CO (b) CO, (c) Si0; (d) P05 '
TG I3 <o Afiferre @M Gie 2Fs 39 Z07? - [Ans: d]
(a) CI (b) Mg (c) Ca A1 |
MIHTARTIIN ARWGocE O [T 39t 4 & Teom ofheqr 719?
(2) TIANTAPTANT TRRIRE @ HHCE (b) AN SHIRG 8 ARG TS

(c) TR THES, AISE0eH 6 A (d) OB SRS, FIRGIeT iR-oHEs @ SREE
HAYM: (d) ; 2ZMg(NOs), = 2Mg0 + 4NO, + 0, '
IR TRES G I 30% T P, 05 AR AITF, Tt A0 T8 1 T A1 Fraienm =AfEmret Fo?

(a) 6.55% (b) 13.1% (c) 26.2% (d) 30.0%

S (b) ; %P = 0.3x = = 13.1%

G SETE $aR-0ad] 26 350nm | Hovs @b @3 Ridards 3 fog 37 [Ans: ¢]
(a) (AGA! (b) T (c) 5Iq= (d) =

£52 @i ANt uoil e w7 [Ans: a]
(a) CH; — (CHp)4,<O~O)-CN | (b) Na,Sno,

4—CorDTEe TRfIRT—4-TAIRGRA ST ~BITeT

(c) g—ﬁfﬁ;@ @ @)_ﬁmg?r‘:;?m_ﬁ@

- SSTRR S AR 1 S Ao [Ans: d]
(a) TR TS FLZFDO A (b) "W St 3 =1

(c) ST SGTETrR T4y et 3 =1 (d) BT ST STeraet = 20s ©1*1 et g

s @ @3 3fER o g Jegfe o sm? [Ans: d]
(a) Na,0, Ca0, 5i0; - (b) Na;0,K,0, Pb0, B;03, Si0,

(c) K, 0, Pb0, Ce02, 5i0; ' (d) Na,0, K,0, CoO0, Sio,
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80. AT CFIN ©1-S Lo ASLHA I (A (A RRifS e ea? ' _' [Ans: b]

(a) H,0 — H,S0, | (b) C;H;0C,Hs — CH;COCH;
(c) CsHgN — CH;COOH (d) HBr — H,0
00. SreNIal e Fac FToR ASTREE il o g (3 SR IRA? N, (g) + 3Hz(g) = 2NH3(g)
(a) Kp- €3 WA RIS AT (b) Kp-a13 T & I
(c) Kp-9% I BFT A (d) Kp @32 K-a3 T 57019 T : .

WA (c) ; RN STaARAMT | ©12 St S Kp @ A= 25 A1)
91. 7 o RiFIR @AFF (k)-97 9FF -

(a) time™* ~ (b)dm3.molL.time™!  (c) mol.dm™>. time (d) mol.dm™3. time™
STtt: (d) ; 0w R, ==k -~ k @7 @3 mol.dm™. time™
92. Kp 4«32 K T3 2Slf€dS - [Ans: a]
(a) Si*i@l (b) vi7 (c) T==T@r (d) All of these
93. frsa @b T FARES A II7e W? [Ans:c]
(a) Al- Bf (b) 7= 7 (c) SrTIRB (d) A5
94. fAroe (WD s @I T CTRLS IS A7 [Ans: d]
(a) NH,NO; (b) KCI (c) KNO; _ (d) All of these
95. CH,OH-93 fFITIRAMET (319 LSS IS W? [Ans: c]
(a) Pt (b) V,0; (¢) ZnO + Cr,0; (d) ZnCl, + Ca0
06. W@V [T IATHFA (ty/,) AREE TAAA- | [Ans: a]
(a) TBAITSS (b) T (c) I5fT= (d) Ao
97. fAwea i faaes? [Ans: d]
(a) FeCl; (b) KMnO, ()], . (d) Na,S,0;
98. TAwea v frap? | [Ans: c]
(a) Ca 8 Ca*? OF (G A A | (b) 0, TS 7’6 ANCAIGT IF SR
(c) Fe*2 @ Fe*? ST S e5<F XAGH Wg. (d) TP (TS @ (reifibs Ty ok (isns! 20 2d
99. FXFIA LG et {F ot FLR? | [Ans: b]
(a) = (b) SIS (c) T  (d) FRPR T |
100. f3T53 IR SRR “BIerS M7
(a) Na,S,0, (b) NaOH (c) FeSO, | (d) K,Cr,0,
Ty (d); e C AreeeTs ezt So5ere Awid 1 [Cl fewr] |

oY C = A G SoirerS s | C FI49 o8 It T8 AT |

101. fAToe M e B3 747 [Ans; c]
(a) CH;COOH + CH;COONa (b) H,CO; + NaHCos,
(c) HCIO, + CH3COOH (d) NaH,PO, + Na,HPO,
102. 0T @D I = Et afie?
(a) HCIO, (b) HC (c) HCIO, (d) HCIO, |
STAIYI: (a); HCI0, > HCI03 > HCIO, > HCI ;
¥7 ¥5 +3 +1 .
103. ©RE@CEAAEH (CgHyBry)-Aad g FA? | [Ans: ]
(a) 955 LYY (c) fofe (d) 51T

104. (I IA 4TS0S Fe 2OITF A T N8 Hy st RfEFm NH,; off 21 9 aereiba gt 7 [Ans: 2]
(a)aﬁamﬂwﬁ?mmawﬁﬁﬁrﬁﬂqﬁm (b) «@ft RfeFars ArEm e I I <
(c) uf fiRFes e 3%+ (d) @f6 NH; @7 1 fafern e

“‘; B 120 ﬁ Rl AfFgeEma o Ry UL
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105. SR toff Tarm oy @3 HGFICSR (Cy2H,;04,) N04T ¥ H, S0, @19 1 =11 @ RfEFaw H,50, afirena

I TR 31 30 [Ans: b]
(2) SfoeT et s (b) frePas (c) TR (d) YT SIS

106. mm@mwﬁmmm? [Ans: d]
@) 1, 1 SIGHEARTA () 1, 1-SRGHARRA (o) 1, 2RI (d) 1, 2-CIRGPIAIRA

107. 2T 39 GTE1392 a3 o e W ' [Ans: d]
(a) FC=IRTGE (b) FiPre (o) FFefFe afire (d) cfoy

108. BT IHYS St sl iR SR iy i v [ Seny T Ned @ T Wi
SOTFTCRIRE ot 357a? [Ans: d]

(a) CH3;CH,CH,CH,0H (b) H,C = CHCH,CH,0H (c) CH;C(CH3)(OH)CH; (d) CH3CH,CH(OH)CH;

s (MCQ)

For questions no. 109-112, each sentence has four underlined words or phrases. The four underlined pars of

the sentence are makes (A), (B), (C) and (D). Identify the one underlined word or phrase that must be ehanged
in order to make the sentence correct.

109. The new computer chip is %LE_ smallest one théa_n has ever bsce_u _d_e_'uLe]DQpﬂsL [Ans: b]
110. A census of the island revealed a population of only 10,000 people. [Ans: d]
C D

111. Itis I].ﬂ%ll for students to bﬂg nervous when &gz were preparing for a new school year. [Ans: d]

112. Either the teacher or ﬂlﬂg students writes on the blackboard. [Ans: c]
For question no. 113-116, choose the correct option that will complete the corresponding sentences.

113. The engineers a serious problem in the project proposal. [Ans: b]
(a) sat in on (b) worked out (c) came close to (d) on and on

114. Nobody knows why postponed unti]l next week. [Ans: d]
(a) the meeting (b) did the meeting (c) was the meeting (d) the meeting was

115. Successful teachers a lot of work to educate their students well. [Ans: c]
(a) make out (b) come in (c) go through (d) keep from

116. Would you mind simply a cup of tea? [Ans: d]
(a) to take (b) for takang (c) for having taken (d) taking

Read the following passage and select the correct word to fill in the gap for the question no. 117-120.

Bangladesh is a small country but has a huge population. Most people here live below the poverty line and cannot
therefore afford to educate their children. Many poor children dropout of school after just a few years or simply do
not go to school at all. Despite this situation we have far too many students to educate compared to the number of
institution available. Bangladesh needs more schools, colleges and universities to provide for the increasing number

of students.

117. The number of students in Bangladesh is day by day. [Ans: b]
(a) reducing (b) growing () more  (d) increase

118. Weneed to educational institutions. [Ans: b]
(ﬂ] raise (b) Increase (c) more (d} ﬁSiﬂg

119. Many people cannot give their children any education for source of income. | [Auns: ]
(a) less (b) few (c) insufficient (d) smaller

120. Bangladeshis a country. [Ans: b]

(a) popular (b) populous (c) familiar (d) population




